Q.1

Q.2

Q.3

Q3

Q4

Q.S

Q.5

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER-III - Examination WINTER 2013
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1. Attempt all questions.

Malke suitable assumptions wherever necessary.

2.
3. Figures to the right indicate full marks.
4.

English version is Authentic

List the different methods of mixing and explain any two.
Draw a sketch showing passage of material in draw frame machine.

Explain the any one drafting system in draw frame.
Explain the working of S.R.R.L opener with neat sketch.

OR
Explain the working of saw gin with neat sketch.

Describe the working of E.R.M cleaner with neat sketch.
Explain any one stripping methods.
OR
Explain any one grinding methods.
Draw a sketch showing passage of material through carding machine.

Define the term: - Trash, Waste, Mixing, Blending & Lint.
Explain any two modern developments in licker in region.
OR
Explain the draw frame defects.
Explain the factor affecting the cleaning efficiency of the card.

Explain the advantage of chute feeding system.
Explain the cause and remedies for any two card defect.

OR
Calculate the production of carding machine in Kgs from the following data.
Doffer diameter = 27 inch, Doffer rpm = 22 , Hank of sliver = 0.115,
Efficiency = 90%, Working times = 08 hours.
Calculate the production o f Draw frame machine in 1bs (pounds) from the
following data. Speed = 600 mts/min, Hank of sliver = 0.118, Efficiency =
85% , Working hours = 08 .
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